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Note:

1. Do not open the booklet until you are told to do so.

2. Read carefully the instructions given at the beginning
of each part of the bookiet.

3. Do not waste time. If the question is foo difficult for you,
go on to the next question.

4. Check your answers thoroughly and make sure you
attempt every question.

5. In this booklet, you should have the following:
a. Pagei toPage 22
b. Questions 1to 30




Section A -

For Questions 1 to 30, choose the most s.qiigble answer and shade its number in the
OAS provided. S

1. Which one of the following animals.bejow is an insect?

(1) A and B only
(2) A,BandConly
(3) A,BandDonly
4 A,B,CandD

2. Which one of the following objects can be bent most easily ‘without breaking?
(1 (2)

A sheet of glass : A wooden spoon

(3)  Aplasticruler (4) A towel




What is the main function of the large intestine?

(1) It allows undigested food to be passed into the blood.
(2) Ttallows water to be passed into the blood.

(3) Iltremoves digested food from the body.

(4) itremoves undlg&eted food out of the body.

-lﬁelvin showed Mary a plant. He pointed at one part and said that this part of the
plant helps it to make food. Which part of the plant was he pointing at?

©
GV

(D)
(1 A
(2 B
@® ¢
4 D



The diagram below shows the growth of a young plant with two missing stages X
and Y.

8-»' — =

Which one of the following shows the correct stages for X and Y?

X Y

M
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The diagram below shows the life cycle of an animal.

/ =

aduilt < : - nymph

Which animal is likely to have the life cycle as shown above?
(1) Dbeetle

@) butterfly .
(3) duck .
(4) cockroach

Matter is anything that has mass and occupies space.

Which one of the following is not matter?

(1) oxygen
(2) shadow
(3) sand
(4) water



8. Pei Qi boiled some water in the pot shown below.

Plastic handles

She is able to hold the pot of boiling water using the plastic handles. This is
because plastic is a

(1) good conductor of heat
(2) strong materiat
(3) heavy material
(4) poor conductor of heat

9. Mdm Koh shines a torch on a wooden container as shown below.

torch

~
o

saeen

[\

Which one of the following shows the shadow of the wooden container on the
screen?

(1) @

(3) 4)




10. In which one of the following will the two magnets push each other away?

1y [s]{n 2 L
(1) (2) N s 1 A
NJtS
®. |N s @ 1l y
s
N
N

11, On a learning joumney to the Singapore Botanic Gardens, Wei Jian noticed
Animal X on the ground. He noted the following characteristics.

~Arltis small.
B: it has wings.
C: It has six legs.
D: It feeds on some food found on the ground.

He concluded that Animat X is an insect.
Which of the above characteristics has/have helped him confirm it?

(1) Aonly
(2) Conly
(3 A and B only
(4) BandDonly



12. Choose the correct classification of the parts of the living things indicated by the
arrows shown below. - '

(o D

Stems Roots
1) B.C A D
2) A B C,D
(3) B8,D A C
“4) AD B,C




13. Patricia carried out two experiments as shown below.

Experiment 1

. Glass container .
onion onion

Experiment 2
Glass container

bean
_ Moist
Moist cotton
cotton wool
wool

DAY 1 DAY 7

She observed the onion and the bean only on the 7" day. What could Pafricia
conclude from her observation?

A: Both the onion and the bean need water to grow.

B: Both the onion and the bean need soil to grow.

C:  The roots of both the onion and the bean grow first.
o D:  The shoot of the onion grow faster than the bean.

(1) Conly -

(2) A, Band Conly

(3) A,BandDonly
.4 ABCandD



14. The graph below shows the amount of digested food found in four different organs
of a human digestive system before absorption into the blood stream.

1

Amount
of
digested
food

1

Organ Organ Organ Organ
A B C D

Y

Which organ is the small intestine?

(1)
(2)
3)
4)

Organ A,
Organ B
Organ C
Organ D

15. Hisham put a few drops of purple ink into a beaker of water. He placed a white
flower into the beaker as shown below.

White flower

After a few hours, he noticed that the flower had {urned purple.

Based on the experiment above, the statement that best explains his observation
is ‘Water was ) '

M
2
@)

(4)

absorbed by the tiny tubes of the stem and carried to the roots
absorbed by the tiny fubes of the roots and carried fo the flower

absorbed and fransported through the tubes in the stem to other parts of the
plant -

absorbed by the roofs and transported through the tiny tubes in the stem to
other parts of the piant

9



16. The diagram below shows a flow chart.

start > Animal?
Yes
] Yes —
A [f Has 6 legs?
No
y
B | Yes Has wings?
No
A
Cc - Yes " |:Give birth to young
alive?
No

Y
KN

Peter caught an animal which does not have 6 legs but has wings. Which letter
best describes the animal?

(1 A
(2 B
3 C
“ D

10



'17. The diagrams below show the life cycles of two animals, A and B.

18.

Animal A

Animail B

Which of the following statements best describe(s) both animais A and B?

A
B:
C:
Q)
2
(3)
4)

Both animals lay their eggs in water. .
The young of both animals do not look like the aduils. -

Both animats have 4 stages in their life cycles.

A only

B only

B and C only
A,BandC

The table below describes the life cycles of two animals, X and Y. A tick (V)
indicates that the statement is frue of the animal.

Characteristics [ Animal X AnimalY |
(@) | The young looks like its adult. v

(b) | It has four stages in its life v

cycle.
(c) |Itis apestin one or more v d

stages of its life cycle.
(d) | It feeds on plants in one or v R

more stages of its life cycle.

Which of the following pairs are most likely animat X and animal Y?

[ Animal X Animal Y
(1) mosquito grasshopper
(2) grasshopper — butterfly
3) B frog mosquito
(4) butterfly beetle

11




19,

A beaker was filled with some marbles and placed on a tabfe as shown below.
The marbles reach the 30 em® mark on the beaker. 10 cm? of salt was added
into the beaker. The beaker was then shaken for 10 seconds before it was
placed on the fable again.

salt

The estimated volume of the marbles and the salt in the beaker would be

(1) 24cm®
2 34cm’
(3) 40cm3
4y 42cm®:

12



20. Thediagram below shows a metal rod being attached to a stand. Three different
boxes, A, B and C, of the same mass, are attached to the metal rod using the same
amount of wax.and a string of the same length. The metal rod is heated by a
bumer. )

_ | wax metalrod  wax
| T A T T
/ paper wood metal
stand A B . c

Rearrange the boxes in order, starting from the box that drops from the metal rod

first

(1) AB,C
(2 B,A,C
3 C,A,B
4 C,BA

13



21. Rahim conducts an-experiment in a classroom at room temperature. He uses his
hands to touch a metal cup and a plastic cup at the same time. Both cups are empty
and are similar in size and thickness.

: . metal
plastic cup~ . cup

Which statement best-describes-how he feels the moment he touches the two
different cups at the same time?

(1)  Both his hands feel cool when he touches the two cups.
(2) Both his hands feel warm when he touches the two cups.‘

(3) The hand that touches the metal cup feels cooler than the haﬁd that fouches
the plastic cup. -

(4) The hand that fouches the metal cup feels warmer than the hand that touches
the plastic cup.

14



22. Shirley conducted an experiment. She filled four cups of the same size with the
- same amount of hot tea. Each cup is made of a different material but has the
same thickness.

Cup A

"

Next, she measured the temperature of the fea at the start and end of the
experiment 20 minutes later and recorded them as shown in the fable below.

Temperature of tea (°C)
Type of At the start ' End
cup
A 60 50
B 60 " 30
C 80 40
"D 80 60

Based on the experiment above, which material, A, B, C or D, is most suitable
for making a lunch box that can keep food warm for at least an hour?

M A
(2 B
@ C
4 D

15



23. Mdm Nora conducted an experiment with four different materials, W, X, Y and Z
using a datalogger. ‘An example of a set-up with material X is shown below.

Torch
sl ¢ Light sensor of
, the datalogger
i
|
o Material X
The results of the experiment is recorded below.
Material 1% reading 2™ reading 3" reading
(lux) (fux) (lux)
No material 5000 5000 5000
W 2300 2400 2350
X 3000 3400 3500
Y 0 0 0
Z 4600 4500 4570

Mdm Nora wants to make curtains for her room. The materiaf chosen must allow
some fight to enter the room in the day and the light must be the least glaring.

Which material is the most suitable?

n w
@ X
(SR
@ Zz

16




Peter carried out an experiment using three different materials, A, B and C, which
are placed on the 3cm, 5-cm and 7-cm mark respectively. A torch is shone on the
materials as shown in the diagram below. He discovered that light can only reach
the 3cm-mark on the ruler.

Torch

/TN

] T | BB 3 I -3 1 | cm
2 4 6 8 '

ruler

Materials A, B and C are then rearranged .and placed on the 3-cm, 5-cm and 7-cm
marks and the distance the light travels from the torch is recorded as shown in the
tabie below. '

Order of Materials Distance the fight travels {cm)
C,BandA 7
B,Aand C 5

Which material(s) allow(s) light to pass through?
(1) Aonly

(2) Bonly

(B) AandB only

(4) BandC only

17



25. Xiu Wuan wants to build a house for her pet kitten as shown in Diagram 1.
Diagram 2 below shows how the house looks like when it is viewed from the top.

Side View

Diagram 1 Diagram 2

Xiu Wuan wants to make use of coloured materials for the top of the house. The
table below shows some information about the coloured materials which she could

make use of.
Material Colour Size Easy to cut
Q Dark Green 80cmx120cm - No
R - White 40 cm x40 cm "No
S Light yeltow 150 cm x 150 cm Yes
T Dark red 40 cm x 60 cm Yes

From her Science lesson, Xiu Wuan knows that light colours like white and yellow
reflect the light rays and allow a surface to stay cool. Dark colours like black
absorb heat and make a surface hot easily.

Using the information in the table above, which material is the most suitable for
making the top of the house so that it can be kept cool for the kitten?

M Q
2 R
3. S
4 T

18



26. Mrs Wondpaursdsomehetwater into thiree different containiers, X, Y and Z. The
contamers’are ot e samersizebutimade of dinerent materals. The time taken for
the water to cool down in each container is shown in the graph below.

Temperature {°C )

100
80

80
40

20 %

Time {min)

Which:$entence below Bedttondiudés her dbsewatio'ns on the experiment?

(1) Container X is apoorer-heat conductor than Y but a better heat conductor than

(2) Contajner X.is;a.bgiter heat conductor.than Y but a poorer heat conductor than
Z ’ . . .

.-

(3) ContainerY is a poorer heat conductor than.Z but a better heat conductor than

X
(4) *Contaifier Y % g bétiet fisat cofidilctor than Z but a poorér heat conductor than

X .

19



27.

28.

The picture below shows how the shadow of a solid object is formed.

screen

solid object

light

The-light source is. moved closer to the solid object without movirig the solid object
and the screen. What will happen to the shadow on the screen? .

The shadow will

(1) disappear

(2) become larger

(3) become smaller
(4) remain the same

May used a light sensor and a datalogger to find out how much light passes through
four sheets, W, X, Y and Z. The four sheets were made of four different materials.
The results were shown in the bar graph below.

A

Amount of
light
passed
through

Y

W X Y Z
Which sheet will form the lightest shadow?

1 w
@ X
@ Y
@ z

20



29. Lily wanted to test if Object C is a magnet by using a bar magnet as shown below.

bar magnet _ Objedt C

‘N S A B

She predicted the following reactions before she carried out her experiment.

Which of her predictions would allow Lily to conclude that Objéct C is a magnet?

bar magnet A B
(1) N-pole . Repel Repel
@) Spole Attract ~ Attract |
(3) N-pole Repel ‘ }% Attract
4) S- pole No reaction No reaction

21



30. Sajech conducted an experiment as shown below. He used a bar magnet to
stroke an iron nail in the direction shown.

iron nail ——
AL DN

e - I A ? -‘{}b- )
{f—— A 4] é bar magnet

— L}-—n- —-—-—-I-I

These were the steps he did:
Step 1 Used one end of the magnet to stroke the nail in one direction 30
times.
Step 2 After stroking for 30 times, he placed the nail near some paper
clips.

He found out that 2 paper clips were atiracted to the nail.

He then continued the following steps:

Step 3 He repeated step 1 on another similar nail but increased the
number of strokes to 50.
Step 4 He placed the nail near some paper clips again.

He found out that 5 paper clips were attracted to the nail.

What was the aim of his experiment?
He wanted to find out if

(1)  the nail could be magnetised by the magnet using the ‘stroke’ method.
(2) the type of nail would affect the number of paper clips the nail attracts

(3) the number of strokes made by a magnet would affect the magnetic
strength of the nail

(4) the number of strokes made by a magnet would affect how weli the nail
‘ attracts paper clips

END OF SECTION A

22
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Section B .
Answer all the questions in the spaces provided.

31. Huiyin saw some living things and non-living things on the beach.

_ State if A and B are living things or non-living things. (2 m)

(@ Aisa _

_ () Bisa

23




32. Choose the correct words from:thg bex to,;answer.the questions below.

|gullet  mouth = smallintestine  large intestine  stomach

In a human digestive system, name the part whére

() Digestion first takes place: | (1 m)

(b) Digestionis compieiéd Lo (1m)

33. The diagram belowshows the stages in the life;cycle of a butterfly.

N

Choose the correct words from the box to answer the questions below. (2 m)

| wriggler egg ___pupa seed

Name the two stages A apd B.

(a) Stage A-

(b) Stage B- e

24




34. Ahmad used an-instrument to measure the températiiié of ¢old waterin a glass.

Instrument

e T L
A NSt PR LAAR i IIOR Y et e,
RCS
N
~ ~
2

(a) What is the instrument called? (1 m)

(b) What is the temperature of the water in the glass? (1, m)

°C

35. Paul places a magnet near an iron rod. The iron rod moves towards the magnet in the
direction shown by the arrow.

' fronrod — —g
b Magnet
O

For questions (a) and (b), write a word or phrase in the blanks given.

(a) The magnet exerts a ] on the iron rod and attracts the
tron rod. (1 m) :

. (b) Paul's observation shows that iron is a __.(1m)

25




36. Marcus conducted. an experiment with a sealed black cantainer as shown below in
Diagram 1. The container has holes on both sides. One side of the container with holes
is placed against the wall. There are some cockroaches in the container.

Diagram 1

wall

When Marcus shone his torch at a specific position, he observed the change shown
below in Diagram 2.

Diagram 2

wall

wall

(@) Draw a cross (X) in Diagram 2 above to indicate the position of the torch. (1 m)

26 { 1




(b) Based on part (a), what was the change Marcus observed? (1 m)

(c) Explain the observation in part (b). (2 m)

' {d) Why did Marcus use a black.container to conduct his exﬁerimenl’? (1 m)

27




37. The diagram below shows two different stages of growth of a bean seed.

Stage X

Lucas said that the seedling is able to make food at both stages X and Y-but May said
that the seedling can only do so at stage Y.

(@) Who made the correct statement? Explain why the statement was correct. (1 m)

(b) -

©

May started to grow some bean plants. For one of the plants, she measured the
size of the seed leaves and the height of the plant and recorded the dataina
table as shown below.

Size of the |4 mm 3 mm 2 mm 1T mm
seed leaves

Height of 2cm 3cm 4cm 5cm
the plant

What is the relationship between the size of the seed leaves and the height of the
plant? (1 m)

Explain the answer in part (b). (1 m)

28




38. The diagrams below show an incomplete fife cycle of a grasshopper and the life cycle of a
plant. Both the organisms are found in the same garden.

(a) Fill in the boxes with the correct stages of the life cycle of a grasshopper. (1m)

Adult

(b) Based on the life cycle of the plant shown below, explain whét will happen if all the
adult plants are eaten up by the grasshoppers. (1 m)

Adult

h

Young

Seed J

29



39 (a) The diagram below shows a flow chart.

start

Suggest a possible question each for A and B. (2 m)

(H Question A

(i) Question B

Isitan
animal?

No

Yes

v

Question A’

No

plant

Yes

A 4

Question B

No

v

bird

Yes

A

mosquito

cockroach

30




(b) The graph below shows the number of days of each stage in the life cycle of a

mosquito.
A
18 T
14 T
No of +
days 10 +
6 ——
N
[ ]

[N

€gg9

larva

pupa

adult

Stage .

How many days would it take for the young to become an adult mosquito after it

s hatched? (1 m)

(i)

At which stage(sywould be the easiest to.destroy this pest? Explain your answer.

(1 m)

31




40. There are four items listed below:

wind

dust

frozen ice cream
sauce

(a) Classify the 4 items into the correct grou;_ig, in the table shown below. (1 m)

Gas Liquid - Solid

(b) Mrs Lee inverted a plastic cup and pushed 'the;cup vertically into a basin of water
as shown below. ' _ '

Part X

wafer

plastic cup

basin

She observed the water level in the plastic cup. She then poked two holes on
part X of the cup.

Explain what would happen to the water level in the plastic cup. (1 m)

32




(c) Nicole put some ink into a syringe and pushed the plunger until all the air is
removed. She then covered the tip of the syringe with her finger and tried to push
the plunger again in the direction of the arrow as shown below.

ink

plunger

finger

syringe

AL

She dissnvered that the plunger could not be pushed any further. What
properties of matter does the ink show? (1 m)

e

33



41. Suzie put four ice cubes on four separate dishes. She left one uncovered and
covered the rest with different materials, P, Q and R. She recorded how long it took
for each ice cube to melt as shown in the table below.

Material A P - Q R
1 1| ¢ | l‘:ll
Time for ice
cube to melt 10 5 23 - 15
(minutes)

{(a) Wirite P, Q or R in each box on the:line graph below to name whichmaterial
each point represents.(1 m)

Time for the ice cube to
melt (minutes)

A

25—

» Materiat

(b) Compaye material R with materials P and Q. What can you conclude about

matedatR? (1 m)




P
.......

©

(it)

Glass A contained Watei with a femperature of 40°C, é@}?;}@;ﬁ%ﬁwnéd\?vater

with a temperattite"of 80°C. ' Kelly poured-an equal arhotnt of water frorm Glass

A and Glass B.into.an émpty béaker, Beaker Y. She cafriad o4t fiiis expériment
at a room temperature of 28°C.

Glass A"
40°C

‘What would be thé'likely téﬁiperétu:'e“bf water in Beaker'Y&t ?ifgt-‘édﬁ‘

60 minutes later? (1;m)

At first:

66 minutes laler:.

Explain your answers iri part (i). (1 m) -

35




42. (a) Mr Tan carried out the following experiment in a room. ,' He filled two beakers, A

)

(u) Mr Tan conducted another expenment and put drfferent amounts of hot water at

and B with the same amount of tap water at room temperature. Then he added

‘the same-amount of ice into each beaker and measured the temperature of the

water after 10 minutes. - The results were shown in ;he table below.

Mr Tan selected Beaker B fo keep his drink warm. Did he make a right choice?
Explain your answer. (1 m)

50 °C iri Beaker A and B as shown below.

Beaker A Beaker B
) m@_f water at 50°C | 20@.-.4{'
156 150
T | 106
—K ' -\_ = “50 i
[ ﬂ _
"/ o f‘

Mr Tan said that the water in both beakers have the same temperature and
same amount of heat He is only partly correct. What should the correct
statement be? (1 m)

36




(b} An experiment is set up as shown below. The same amount of water is poured
into two beakers; P and Q, of similar size and material. A metal spoon is putin
~ beaker P whlle a plastic spoon is put in beaker Q.

metal spoon plastic spoon

Beaker P ' Beaker Q

The aim of the experiment is to find out which material of the spoon is a better
conductor of heat. Which other vartable should remain unchanged in order to
conduct a fair test? (1 m)

37




43. Robert carried out an experinien't'-toﬂﬁnd out about the reflection of light as shown
below. There are four openings, A, B, C and D and three mirrors.

mirror . ) .
T, : <— Opening C
Opening A
<+— QOpening D
Opening B pening
worm__
% f lighted

candle

(@) Which opening should Rdbeﬁ place his eyes at in order to see the worm? (1 m)

(b) Which properfies ot ight 1s snown in the above experiment? {1 m)

38




43 A pohceman was driving a patrol ¢car and he saw a tree behind him usmg the
rear view mirror in the car.

N
sun f 7N
J‘)
N

rear view mimmor

(c) Using lines and arrows, explain how the policeman was able to see the image of
the tree on the rear view mirror. (1 m)

(d) Where would the shadow of the car be if the car stopped in the position as
shown in the picture above? }

Draw a cross (X) in the diagram above to show the position of the shadow.(1 m)

39



44, look at the picture shgwn'below.

wooden pole

A
B magnet 1
magnet 2
S.—1; '
Efj‘— magnet 3

L

(@) If B represents the N-pole of the magnet, what pole will A be? (1 m)

(b) Explain your answer in part(a). (1 m)

" END OF SECTION B
Please check your work carefully.

40




Answer

- -~

EXAM PAPER 2011

SCHOOL : RED SWASTIKA
SUBJECT :  PRIMARY 4 SCIENCE

TERM : SA2
Ql | Q2| Q3 [Q4[Q5|Q6, Q7 | Q8 | Q3 | Qi0| Q11 | Q12 | Qi3 Qi4 Q15 | Q16 Q17
3 4 2 1 |4 4 2 4 3 4 2 1 1 3 3 2 2

Q181 Q19( Q20| Q21| Q22 | Q23 [ 024 | Q25 | Q26 | Q27 [ Q28 | Q29 | Q30

2 | 2 1 3 .1 1 4 | 3 4 2 [ 4 3 3

31)a)A: living thing b)B: non-living thing
32)a)Mouth b)Small intestine
33)a)Egg b)Pupa

34)a)Laboratory thermometer. b)14C

35)a)force b)magnetic material

36)a) &

b)He observed that the cockroaches moved away from the light.

c)The cockroaches prefer a darker living condition and responded/reacted to the
increase in light by moving away from the light.

d)To ensure that the box receives light from the opening./ No (other)light coif be
reflected, No other parts of the box will reflect light.

37)a)May. At stage Y, the seedling has developed green eaves which allow the plant
to make food.

b)As the plant increases in height/ become taller, the size of the seed leaves
decrease/ become smaller.

C)At the plant grows taller it, uses the food stored in the seed leaves and sauses
the size of the seed leaves to be smaller.

Egg
/ \4
Adult«— Nymph

b)There coil be no more seeds or young plants as there will be no adult plant to
reproduce seeds to grow into new young plants.

38)a)



Answer Key


39)a)i)ls it.an insect ?/OR Does it have six legs?/3 body parts? /feelers?.
ii)Does it have four stages of life-cycle?.
b)i)14 days. _
ii)Egg. It does not fly at this stages. It is found in coater.

40)a)Gas Liquid Solid
WwWind Sauce Frozen ice cream
Dust

b)The water level would rise. Air escaped from the holes to allow water to enter the
cup to take up space.

c)The ink/liquid/water has a definite volume and cannot be compressed hence the
plunger cannot be pushed any further.

41)a)P, Q, A, R
‘b)Material R is a-poorer conductor of heat than P. but a better conductor of heat
than Material Q. .
c)i)At first: 60°C
60 minutes {ater: 28°C
ii)Heat flows from the coater with higher temperature to the water jower
temperature until the temperature become the same as the room
temperature/temperature of the surroundings.

42)a)i)Yes, he made a right choice. Beaker B is a poorer B is a conductor of heat than
‘Beaker A and it does not allow heat to flow through as easily to melt the ice/less heat
flows to melt.the. ice/allows heat to flow through more slowly.
ii)Both the coater in A and B has the same temperature but the water in A has
more heat than water in.
b)Size of the spoon./Temperature of the coater.

43)a)Opening D.
b)Light travel in straight line and can be reflected by a mirror.
cd) .

sun 1

..\\

rearview mimror

44)a)A is a South-pole
b)Because B repelled the underside of A and only like poles repelled, so the
underside of A is a North-pole, therefore A is a South-pole.





